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Ejemplo: Derivadas 

 

1.- Dada 𝑦 = (3 − 2 𝑥)5, encontrar  
𝑑𝑦

𝑑𝑥
  

 

La fórmula a aplicar es  

 

 
𝑑(𝑢𝑛)

𝑑𝑥
= 𝑛𝑢𝑛−1 𝑑(𝑢)

𝑑𝑥
,  donde u = (3 - 2x) con n = 5  

 

𝑑𝑦

𝑑𝑥
= 5(3 − 2 𝑥)5−1 𝑑

𝑑𝑥
(3 − 2 𝑥);      𝑅𝑒𝑐𝑜𝑟𝑑𝑎𝑛𝑑𝑜 𝑞𝑢𝑒 

𝑑(𝑢+𝑣)

𝑑𝑥
=

𝑑(𝑢)

𝑑𝑥
+  

𝑑(𝑣)

𝑑𝑥
   

 

 
𝑑𝑦

𝑑𝑥
= 5(3 − 2 𝑥)4 [

𝑑

𝑑𝑥
(3) − 2

𝑑𝑥

𝑑𝑥
];    Si  

𝑑(𝑐)

𝑑𝑥
= 0;      

𝑑(𝑐𝑢)

𝑑𝑥
=  c 

𝑑(𝑢)

𝑑𝑥
;      

𝑑(𝑥)

𝑑𝑥
= 1 

 

𝑑𝑦

𝑑𝑥
= 5(3 − 2 𝑥)4 (0 − 2(1)) = 5(−2)(3 − 2 𝑥)4 

 

∴         
𝑑𝑦

𝑑𝑥
= −10(3 − 2 𝑥)4 esto es  

𝑑[(3−2 𝑥)5]

𝑑𝑥
= −10(3 − 2 𝑥)4  
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Ejemplo: Derivadas 

 

2.- Si 𝑦 = (𝑥3 − 2 𝑥2 + 3 𝑥 − 1)11, encontrar  
𝑑𝑦

𝑑𝑥
 

 

Para aplicar  
𝑑(𝑢𝑛)

𝑑𝑥
= 𝑛𝑢𝑛−1 𝑑(𝑢)

𝑑𝑥
  

 

𝑢 = 𝑥3 − 2𝑥2 + 3𝑥 − 1 

𝑛 = 11  

 

De manera que,  

𝑑𝑦

𝑑𝑥
= 11(𝑥3 − 2 𝑥2 + 3 𝑥 − 1)11−1 𝑑

𝑑𝑥
(𝑥3 − 2 𝑥2 + 3 𝑥 − 1) 

𝑑(𝑐)

𝑑𝑥
= 0; 

𝑑(𝑐𝑢)

𝑑𝑥
=  c

𝑑(𝑢)

𝑑𝑥
;  

𝑑(𝑥)

𝑑𝑥
= 1 

 

 
𝑑𝑦

𝑑𝑥
= 11(𝑥3 − 2 𝑥2 + 3 𝑥 − 1)10[

𝑑

𝑑𝑥
𝑥3 − 2

𝑑

𝑑𝑥
𝑥2 + 3

𝑑𝑥

𝑑𝑥
−

𝑑

𝑑𝑥
(1)] 

 

  
𝑑𝑦

𝑑𝑥
= 11(𝑥3 − 2 𝑥2 + 3 𝑥 − 1)10(3 𝑥2 − 4 𝑥 + 3 − 0) 

 

∴       
𝑑𝑦

𝑑𝑥
= 11(3 𝑥2 − 4 𝑥 + 3)(𝑥3 − 2 𝑥2 + 3 𝑥 − 1)10 
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Ejemplo: Derivadas 

 

3. Si 𝑦 = 𝑐𝑜𝑠(
3𝑥2

𝑥+2
), encontrar 

𝑑𝑦

𝑑𝑥
 

 

Considerando que   
𝑑(𝑐𝑜𝑠(𝑢))

𝑑𝑥
= −sen(𝑢)

𝑑(𝑢)

𝑑𝑥
 ,  con 𝑢 =

3𝑥2

𝑥+2
,  se tiene. 

 

𝑑

𝑑𝑥
𝑐𝑜𝑠(

3𝑥2

𝑥+2
) = − 𝑠𝑒𝑛(

3𝑥2

𝑥+2
)

𝑑

𝑑𝑥
(

3𝑥2

𝑥+2
)  

 

De donde  
𝑑

𝑑𝑥
(

𝑢

𝑣
) =

𝑣
𝑑

𝑑𝑥
(𝑢) − 𝑢

𝑑

𝑑𝑥
(𝑣)

𝑣2   

 

= −𝑠𝑒𝑛(
3𝑥2

𝑥 + 2
)(

(𝑥 + 2)
𝑑

𝑑𝑥
3𝑥2 − 3𝑥2 𝑑

𝑑𝑥
(𝑥 + 2)

(𝑥 + 2)2
) 

 

= −𝑠𝑒𝑛(
3𝑥2

𝑥 + 2
)(

(𝑥 + 2)[3
𝑑

𝑑𝑥
𝑥2] − 3𝑥2[

𝑑
𝑑𝑥

𝑥 +
𝑑

𝑑𝑥
2]

(𝑥 + 2)2
) 

 

= −𝑠𝑒𝑛(
3𝑥2

𝑥 + 2
)(

(𝑥 + 2)(6𝑥) − 3𝑥2(1 + 0)

(𝑥 + 2)2
) 

 

= −𝑠𝑒𝑛(
3𝑥2

𝑥 + 2
)(

6𝑥2 + 12𝑥 − 3𝑥2

(𝑥 + 2)2
) 

 

∴   
𝑑𝑦

𝑑𝑥
= −(

3𝑥2+12𝑥

(𝑥 +2)2
)𝑠𝑒𝑛(

3𝑥2

𝑥+2
)  
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Ejemplo: Derivadas 

 

4.- Si  𝑦 = (
𝑠𝑒𝑛(𝑥)

𝑐𝑜𝑠(2 𝑥)
)3    sea  𝑢 =

𝑠𝑒𝑛(𝑥)

𝑐𝑜𝑠(2 𝑥)
 𝑐𝑜𝑛 𝑛 = 3, entonces 

𝑑(𝑢𝑛)

𝑑𝑥
= 𝑛𝑢𝑛−1 𝑑(𝑢)

𝑑𝑥
 

 

𝑑

𝑑𝑥
(

𝑠𝑒𝑛(𝑥)

𝑐𝑜𝑠(2 𝑥)
)3 = 3(

𝑠𝑒𝑛(𝑥)

𝑐𝑜𝑠(2 𝑥)
)3−1 𝑑

𝑑𝑥
(

𝑠𝑒𝑛(𝑥)

𝑐𝑜𝑠(2 𝑥)
)    

𝑑

𝑑𝑥
(

𝑢

𝑣
) =

𝑣
𝑑

𝑑𝑥
(𝑢) − 𝑢

𝑑

𝑑𝑥
(𝑣)

𝑣2  

 
 

= 3(
𝑠𝑒𝑛(𝑥)

𝑐𝑜𝑠(2 𝑥)
)2 (

𝑐𝑜𝑠(2 𝑥)
𝑑

𝑑𝑥
(𝑠𝑒𝑛( 𝑥))−𝑠𝑒𝑛( 𝑥)

𝑑

𝑑𝑥
(𝑐𝑜𝑠( 𝑥))

(𝑐𝑜𝑠(2 𝑥))2 )     
𝑑(𝑠𝑒𝑛(𝑢))

𝑑𝑥
= cos(𝑢)

𝑑(𝑢)

𝑑𝑥
,  

 

= 3(
𝑠𝑒𝑛(𝑥)

𝑐𝑜𝑠(2 𝑥)
)2(

𝑐𝑜𝑠(2 𝑥) 𝑐𝑜𝑠( 𝑥)
𝑑𝑥

𝑑𝑥
−𝑠𝑒𝑛( 𝑥)(−𝑠𝑒𝑛(2 𝑥))

𝑑

𝑑𝑥
2𝑥

(𝑐𝑜𝑠(2 𝑥))2 )  
𝑑(𝑐𝑜𝑠(𝑢))

𝑑𝑥
= −sen(𝑢)

𝑑(𝑢)

𝑑𝑥
 

 

= 3(
𝑠𝑒𝑛(𝑥)

𝑐𝑜𝑠( 2 𝑥)
)2(

𝑐𝑜𝑠( 2 𝑥) 𝑐𝑜𝑠( 𝑥) − 𝑠𝑒𝑛( 𝑥) (−𝑠𝑒𝑛(2 𝑥))[2
𝑑

𝑑𝑥
𝑥]

(𝑐𝑜𝑠( 2 𝑥))2
) 

 
 

= 3(
𝑠𝑒𝑛(𝑥)

𝑐𝑜𝑠( 2 𝑥)
)2(

𝑐𝑜𝑠( 2 𝑥) 𝑐𝑜𝑠( 𝑥) + 2 𝑠𝑒𝑛( 𝑥) (𝑠𝑒𝑛(2 𝑥))

(𝑐𝑜𝑠( 2 𝑥))2
) 

 
 

= 3(
𝑠𝑒𝑛2(𝑥)

𝑐𝑜𝑠2( 2 𝑥)
)(

𝑐𝑜𝑠( 2 𝑥) 𝑐𝑜𝑠( 𝑥) + 2 𝑠𝑒𝑛( 𝑥) (𝑠𝑒𝑛(2 𝑥))

𝑐𝑜𝑠2( 2 𝑥)
) 

 
 

 ∴  
𝑑𝑦

𝑑𝑥
= 3(𝑠𝑒𝑛2( 𝑥))(

𝑐𝑜𝑠(2 𝑥) 𝑐𝑜𝑠( 𝑥)+2 𝑠𝑒𝑛( 𝑥)(𝑠𝑒𝑛(2 𝑥))

𝑐𝑜𝑠4(2 𝑥)
)  

  

 


